

# **Summary of Bids Received**

**Project:** Hainesville Road at Shorewood Drive

Section: 11-00072-12-TL

Description: Install Traffic Signals

<b>Bidder</b> Home Towne Electric, Inc. H&H Electric Company Meade Electric Co., Inc.	Address P.O. Box 863 2830 Commerce Street 9550 W. 55th St Ste A	City, State, Zip Lake Villa, IL 60046 Franklin Park, IL 60131 McCook, IL 60525	<b>Bond</b> Bid Bond Bid Bond Bid Bond	<b>Bid Price</b> \$256,129.62 \$270,060.10 \$296,480.35	% Over/Under Eng. Estimate -2.96% 2.32% 12.33%	\$6,112.65
Engineer's Estimate				\$263,947.45		
Design	IDOT(2)	Contract Bidder	N	IGB then Plan Racl	·	_
Finance	Bid Tab File	Resident Eng.	A	dministrative Assis	stant	_
Construction	Project File	Request By Mail		lgr Capital Prograr	nming	



#### **Return Bid Tabulation**

Project: Hainesville Road at Shorewood Drive

Section: 11-00072-12-TL

Description: Install Traffic Signals

Item					Eng Estimate		Home Towne Electric, Inc.		Meade Elec	tric Co., Inc.	H&H Electric Company	
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200100	EARTH EXCAVATION	12.00	CU YD	\$80.00	\$960.00	\$134.40	\$1,612.80	\$35.00	\$420.00	\$62.70	\$752.40
2	31101200	SUBBASE GRANULAR MATERIAL, TYPE B 4"	60.00	SQ YD	\$5.00	\$300.00	\$16.30	\$978.00	\$6.00	\$360.00	\$5.70	\$342.00
3	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	400.00	SQ FT	\$10.00	\$4,000.00	\$8.20	\$3,280.00	\$17.00	\$6,800.00	\$11.40	\$4,560.00
4	42400800	DETECTABLE WARNINGS	36.00	SQ FT	\$30.00	\$1,080.00	\$33.30	\$1,198.80	\$26.00	\$936.00	\$57.00	\$2,052.00
5	44000500	COMBINATION CURB AND GUTTER REMOVAL	70.00	FOOT	\$5.60	\$392.00	\$17.30	\$1,211.00	\$6.00	\$420.00	\$7.90	\$553.00
6	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	70.00	FOOT	\$21.25	\$1,487.50	\$30.20	\$2,114.00	\$115.00	\$8,050.00	\$49.00	\$3,430.00
7	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	36.40	SQ FT	\$5.00	\$182.00	\$6.80	\$247.52	\$11.50	\$418.60	\$12.50	\$455.00
8	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	126.00	FOOT	\$5.00	\$630.00	\$9.50	\$1,197.00	\$11.00	\$1,386.00	\$11.90	\$1,499.40
9	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	106.00	FOOT	\$12.50	\$1,325.00	\$18.90	\$2,003.40	\$22.00	\$2,332.00	\$23.80	\$2,522.80
10	78300100	PAVEMENT MARKING REMOVAL	196.00	SQ FT	\$1.50	\$294.00	\$2.50	\$490.00	\$3.00	\$588.00	\$3.40	\$666.40
11	80500020	SERVICE INSTALLATION - POLE MOUNTED	1.00	EACH	\$1,750.00	\$1,750.00	\$1,682.00	\$1,682.00	\$1,600.00	\$1,600.00	\$1,196.20	\$1,196.20
12	81000600	CONDUIT IN TRENCH, 2" DIA., GALVANIZED STEEL	38.00	FOOT	\$18.00	\$684.00	\$11.70	\$444.60	\$60.00	\$2,280.00	\$8.10	\$307.80
13	81000700	CONDUIT IN TRENCH, 2 1/2" DIA., GALVANIZED STEEL	88.00	FOOT	\$19.50	\$1,716.00	\$18.40	\$1,619.20	\$30.00	\$2,640.00	\$14.00	\$1,232.00
14	81000900	CONDUIT IN TRENCH, 3 1/2" DIA., GALVANIZED STEEL	50.00	FOOT	\$24.50	\$1,225.00	\$25.00	\$1,250.00	\$48.00	\$2,400.00	\$32.80	\$1,640.00
15	81001000	CONDUIT IN TRENCH, 4" DIA., GALVANIZED STEEL	30.00	FOOT	\$25.00	\$750.00	\$27.00	\$810.00	\$48.00	\$1,440.00	\$31.60	\$948.00
16	81018900	CONDUIT PUSHED, 4" DIA., GALVANIZED STEEL	374.00	FOOT	\$38.00	\$14,212.00	\$29.50	\$11,033.00	\$45.00	\$16,830.00	\$31.60	\$11,818.40
17	81400100	HANDHOLE	2.00	EACH	\$1,250.00	\$2,500.00	\$1,098.00	\$2,196.00	\$2,138.00	\$4,276.00	\$901.10	\$1,802.20
18	81400300	DOUBLE HANDHOLE	2.00	EACH	\$2,200.00	\$4,400.00	\$2,077.00	\$4,154.00	\$2,837.00	\$5,674.00	\$2,318.50	\$4,637.00
19	81700215	ELECTRIC CABLE IN CONDUIT, 600V (EPR- TYPE RHW) 2-1/C NO. 10	823.00	FOOT	\$2.50	\$2,057.50	\$1.60	\$1,316.80	\$1.00	\$823.00	\$1.20	\$987.60
20	81900200	TRENCH AND BACKFILL FOR ELECTRICAL WORK	178.00	FOOT	\$2.75	\$489.50	\$0.10	\$17.80	\$1.00	\$178.00	\$0.10	\$17.80



#### **Return Bid Tabulation**

Project: Hainesville Road at Shorewood Drive

Section: 11-00072-12-TL

Description: Install Traffic Signals

CPMS Pin: B-00905

Let Date: 7/26/2011

Item					Eng Esti	nate	Home Towne	Electric, Inc.	Meade Elect	tric Co., Inc.	H&H Electri	ic Company
	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
21	82103250	LUMINAIRE, SODIUM VAPOR, HORIZONTAL MOUNT, PHOTO-CELL CONTROL, 250 WATT	4.00	EACH	\$500.00	\$2,000.00	\$432.00	\$1,728.00	\$508.00	\$2,032.00	\$392.80	\$1,571.20
22	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	1.00	EACH	\$825.00	\$825.00	\$680.00	\$680.00	\$300.00	\$300.00	\$74.00	\$74.00
23	85700200	FULL-ACTUATED CONTROLLER AND TYPE IV CABINET	1.00	EACH	\$12,500.00	\$12,500.00	\$23,003.00	\$23,003.00	\$22,906.00	\$22,906.00	\$24,649.80	\$24,649.80
24	86200120	UNINTERRUPTIBLE POWER SUPPLY	1.00	EACH	\$8,000.00	\$8,000.00	\$9,425.00	\$9,425.00	\$9,303.00	\$9,303.00	\$9,379.40	\$9,379.40
25	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	1,045.00	FOOT	\$1.00	\$1,045.00	\$0.90	\$940.50	\$1.00	\$1,045.00	\$0.60	\$627.00
26	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	903.00	FOOT	\$1.25	\$1,128.75	\$1.10	\$993.30	\$1.00	\$903.00	\$0.70	\$632.10
27	87301245	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 5C	728.00	FOOT	\$1.50	\$1,092.00	\$1.30	\$946.40	\$1.50	\$1,092.00	\$0.80	\$582.40
28	87301255	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 7C	1,435.00	FOOT	\$1.50	\$2,152.50	\$1.50	\$2,152.50	\$2.00	\$2,870.00	\$1.10	\$1,578.50
29	87301805	ELECTRIC CABLE IN CONDUIT, SERVICE, NO. 6 2 C	39.00	FOOT	\$3.50	\$136.50	\$3.10	\$120.90	\$2.50	\$97.50	\$1.70	\$66.30
30	8 / /040 /0	STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 28 FT. (SPECIAL)	1.00	EACH	\$16,200.00	\$16,200.00	\$13,808.00	\$13,808.00	\$16,000.00	\$16,000.00	\$15,619.50	\$15,619.50
31	87704090	STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 32 FT. (SPECIAL)	1.00	EACH	\$17,000.00	\$17,000.00	\$14,054.00	\$14,054.00	\$16,250.00	\$16,250.00	\$15,928.00	\$15,928.00
32		STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 34 FT. (SPECIAL)	1.00	EACH	\$17,500.00	\$17,500.00	\$14,074.00	\$14,074.00	\$16,500.00	\$16,500.00	\$15,950.80	\$15,950.80
33	2770/1110	STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 36 FT. (SPECIAL)	1.00	EACH	\$20,600.00	\$20,600.00	\$16,629.00	\$16,629.00	\$19,000.00	\$19,000.00	\$18,844.80	\$18,844.80
34	87800100	CONCRETE FOUNDATION, TYPE A	16.00	FOOT	\$300.00	\$4,800.00	\$129.00	\$2,064.00	\$273.00	\$4,368.00	\$151.30	\$2,420.80
35	87800150	CONCRETE FOUNDATION, TYPE C	4.00	FOOT	\$350.00	\$1,400.00	\$403.50	\$1,614.00	\$550.00	\$2,200.00	\$460.30	\$1,841.20
36	87800415	CONCRETE FOUNDATION, TYPE E 36-INCH DIAMETER	60.00	FOOT	\$300.00	\$18,000.00	\$173.00	\$10,380.00	\$236.00	\$14,160.00	\$154.50	\$9,270.00
37	88030020	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, MAST-ARM MOUNTED	6.00	EACH	\$950.00	\$5,700.00	\$987.00	\$5,922.00	\$1,073.00	\$6,438.00	\$894.30	\$5,365.80
38	88030050	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, BRACKET MOUNTED	2.00	EACH	\$875.00	\$1,750.00	\$938.00	\$1,876.00	\$1,024.00	\$2,048.00	\$855.00	\$1,710.00
39	88030100	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, BRACKET MOUNTED	2.00	EACH	\$1,250.00	\$2,500.00	\$1,421.00	\$2,842.00	\$1,646.00	\$3,292.00	\$1,267.90	\$2,535.80



#### **Return Bid Tabulation**

Project: Hainesville Road at Shorewood Drive

Section: 11-00072-12-TL

Description: Install Traffic Signals

Item					Eng Esti	mate	Home Towne	Home Towne Electric, Inc.		tric Co., Inc.	H&H Electric Company	
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
40	88030110	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, MASTARM MOUNTED	2.00	EACH	\$1,250.00	\$2,500.00	\$1,487.00	\$2,974.00	\$1,712.00	\$3,424.00	\$1,368.60	\$2,737.20
41	88102717	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	2.00	EACH	\$1,000.00	\$2,000.00	\$822.00	\$1,644.00	\$889.00	\$1,778.00	\$856.20	\$1,712.40
42	88200210	TRAFFIC SIGNAL BACKPLATE, LOUVERED, ALUMINUM	8.00	EACH	\$125.00	\$1,000.00	\$170.00	\$1,360.00	\$121.00	\$968.00	\$115.40	\$923.20
43	88700200	LIGHT DETECTOR	2.00	EACH	\$1,100.00	\$2,200.00	\$1,217.00	\$2,434.00	\$1,214.00	\$2,428.00	\$1,178.50	\$2,357.00
44		LIGHT DETECTOR AMPLIFIER	1.00	EACH	\$2,000.00	\$2,000.00	\$1,927.00	\$1,927.00	\$1,875.00		\$2,006.30	. ,
45	88800100	PEDESTRIAN PUSH-BUTTON	2.00	EACH	\$325.00	\$650.00	\$327.00	\$654.00	\$332.00	\$664.00	\$275.20	\$550.40
46	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	1.00	EACH	\$1,200.00	\$1,200.00	\$1,360.00	\$1,360.00	\$3,000.00	\$3,000.00	\$592.00	\$592.00
47	LC800602	ELECTRIC CABLE IN CONDUIT, NO.18 3/C, VIDEO	822.00	FOOT	\$3.00	\$2,466.00	\$1.30	\$1,068.60	\$1.00	\$822.00	\$0.90	\$739.80
48	LC800611	ELECTRIC CABLE IN CONDUIT, GROUND NO. 6 1C	429.00	FOOT	\$1.75	\$750.75	\$1.30	\$557.70	\$1.25	\$536.25	\$1.00	\$429.00
49	LC800612	ELECTRIC CABLE IN CONDUIT, COAXIAL	214.00	FOOT	\$1.60	\$342.40	\$1.70	\$363.80	\$1.00	\$214.00	\$1.60	\$342.40
50	LC800614	ELECTRIC CABLE IN CONDUIT, VIDEO, NO. 20 4C	214.00	FOOT	\$2.20	\$470.80	\$1.20	\$256.80	\$1.00	\$214.00	\$0.90	\$192.60
51	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.00	L SUM	\$12,814.25	\$12,814.25	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$12,396.20	\$12,396.20
52	X8730250	ELECTRIC CABLE IN CONDUIT NO. 20 3/C, TWISTED, SHIELDED	289.00	FOOT	\$1.00	\$289.00	\$0.80	\$231.20	\$1.00	\$289.00	\$0.80	\$231.20
53	XX003553	VIDEO TRANSMISSION SYSTEM	1.00	EACH	\$18,000.00	\$18,000.00	\$6,620.00	\$6,620.00	\$6,400.00	\$6,400.00	\$6,156.00	\$6,156.00
54	XX005230	VIDEO DETECTION SYSTEM COMPLETE INTERSECTION	1.00	EACH	\$15,000.00	\$15,000.00	\$34,673.00	\$34,673.00	\$35,660.00	\$35,660.00	\$35,402.20	\$35,402.20
55	XX005931	TRAFFIC SIGNAL POST, 16 FOOT, (SPECIAL)	4.00	EACH	\$3,000.00	\$12,000.00	\$3,026.00	\$12,104.00	\$3,377.00	\$13,508.00	\$3,267.50	\$13,070.00
56	XX005937	LED INTERNALLY ILLUMINATED STREET NAME SIGN	4.00	EACH	\$3,500.00	\$14,000.00	\$3,857.00	\$15,428.00	\$3,704.00	\$14,816.00	\$3,670.70	\$14,682.80
57	XX008253	VIDEO ENCODER	1.00	EACH	\$1,500.00	\$1,500.00	\$5,365.00	\$5,365.00	\$5,728.00	\$5,728.00	\$5,472.00	\$5,472.00
		Bid Total				\$263,947.45		\$256,129.62		\$296,480.35		\$270,060.10



**Project:** Hainesville Road at Shorewood Drive

Section: 11-00072-12-TL

Description: Install Traffic Signals

Item	Day Code	Description	Quantity	Unit	Eng Est	timate	Min. Bid Price	Max. Bid Price	Avg. Bid Price
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	IVIIII. BIO PIICE	iviax. Bid Price	Avg. Bid Price
1	20200100	EARTH EXCAVATION	12	CU YD	\$80.00	\$960.00	\$35.00	\$134.40	\$77.37
2	31101200	SUBBASE GRANULAR MATERIAL, TYPE B 4"	60	SQ YD	\$5.00	\$300.00	\$5.70	\$16.30	\$9.33
3	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	400	SQ FT	\$10.00	\$4,000.00	\$8.20	\$17.00	\$12.20
4	42400800	DETECTABLE WARNINGS	36	SQ FT	\$30.00	\$1,080.00	\$26.00	\$57.00	\$38.77
5	44000500	COMBINATION CURB AND GUTTER REMOVAL	70	FOOT	\$5.60	\$392.00	\$6.00	\$17.30	\$10.40
6	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	70	FOOT	\$21.25	\$1,487.50	\$30.20	\$115.00	\$64.73
7	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	36	SQ FT	\$5.00	\$182.00	\$6.80	\$12.50	\$10.27
8	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	126	FOOT	\$5.00	\$630.00	\$9.50	\$11.90	\$10.80
9	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	106	FOOT	\$12.50	\$1,325.00	\$18.90	\$23.80	\$21.57
10	78300100	PAVEMENT MARKING REMOVAL	196	SQ FT	\$1.50	\$294.00	\$2.50	\$3.40	\$2.97
11	80500020	SERVICE INSTALLATION - POLE MOUNTED	1	EACH	\$1,750.00	\$1,750.00	\$1,196.20	\$1,682.00	\$1,492.73
12	81000600	CONDUIT IN TRENCH, 2" DIA., GALVANIZED STEEL	38	FOOT	\$18.00	\$684.00	\$8.10	\$60.00	\$26.60



**Project:** Hainesville Road at Shorewood Drive

Section: 11-00072-12-TL

Description: Install Traffic Signals

Item	Day Cada	Description	Quantity	Unit	Eng Est	imate	Min. Bid Price	May Bid Drice	Ava Bid Drice
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	IVIIN. BIQ Price	Max. Bid Price	Avg. Bid Price
13	81000700	CONDUIT IN TRENCH, 2 1/2" DIA., GALVANIZED STEEL	88	FOOT	\$19.50	\$1,716.00	\$14.00	\$30.00	\$20.80
14	81000900	CONDUIT IN TRENCH, 3 1/2" DIA., GALVANIZED STEEL	50	FOOT	\$24.50	\$1,225.00	\$25.00	\$48.00	\$35.27
15	81001000	CONDUIT IN TRENCH, 4" DIA., GALVANIZED STEEL	30	FOOT	\$25.00	\$750.00	\$27.00	\$48.00	\$35.53
16	81018900	CONDUIT PUSHED, 4" DIA., GALVANIZED STEEL	374	FOOT	\$38.00	\$14,212.00	\$29.50	\$45.00	\$35.37
17	81400100	HANDHOLE	2	EACH	\$1,250.00	\$2,500.00	\$901.10	\$2,138.00	\$1,379.03
18	81400300	DOUBLE HANDHOLE	2	EACH	\$2,200.00	\$4,400.00	\$2,077.00	\$2,837.00	\$2,410.83
19	81700215	ELECTRIC CABLE IN CONDUIT, 600V (EPR-TYPE RHW) 2-1/C NO. 10	823	FOOT	\$2.50	\$2,057.50	\$1.00	\$1.60	\$1.27
20	81900200	TRENCH AND BACKFILL FOR ELECTRICAL WORK	178	FOOT	\$2.75	\$489.50	\$0.10	\$1.00	\$0.40
21	82103250	LUMINAIRE, SODIUM VAPOR, HORIZONTAL MOUNT, PHOTO-CELL CONTROL, 250 WATT	4	EACH	\$500.00	\$2,000.00	\$392.80	\$508.00	\$444.27
22	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	1	EACH	\$825.00	\$825.00	\$74.00	\$680.00	\$351.33
23	85700200	FULL-ACTUATED CONTROLLER AND TYPE IV CABINET	1	EACH	\$12,500.00	\$12,500.00	\$22,906.00	\$24,649.80	\$23,519.60
24	86200120	UNINTERRUPTIBLE POWER SUPPLY	1	EACH	\$8,000.00	\$8,000.00	\$9,303.00	\$9,425.00	\$9,369.13



**Project:** Hainesville Road at Shorewood Drive

Section: 11-00072-12-TL

Description: Install Traffic Signals

Item	Day Cada	Description	Quantity	Unit	Eng Est	imate	Min. Bid Price	Max. Bid Price	Avg. Bid Price
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	wiin. Bia Price	iviax. Bid Price	Avg. Bid Price
25	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	1,045	FOOT	\$1.00	\$1,045.00	\$0.60	\$1.00	\$0.83
26	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	903	FOOT	\$1.25	\$1,128.75	\$0.70	\$1.10	\$0.93
27	87301245	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 5C	728	FOOT	\$1.50	\$1,092.00	\$0.80	\$1.50	\$1.20
28	87301255	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 7C	1,435	FOOT	\$1.50	\$2,152.50	\$1.10	\$2.00	\$1.53
29	87301805	ELECTRIC CABLE IN CONDUIT, SERVICE, NO. 6 2 C	39	FOOT	\$3.50	\$136.50	\$1.70	\$3.10	\$2.43
30	87704070	STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 28 FT. (SPECIAL)	1	EACH	\$16,200.00	\$16,200.00	\$13,808.00	\$16,000.00	\$15,142.50
31	87704090	STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 32 FT. (SPECIAL)	1	EACH	\$17,000.00	\$17,000.00	\$14,054.00	\$16,250.00	\$15,410.67
32	87704100	STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 34 FT. (SPECIAL)	1	EACH	\$17,500.00	\$17,500.00	\$14,074.00	\$16,500.00	\$15,508.27
33	87704110	STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 36 FT. (SPECIAL)	1	EACH	\$20,600.00	\$20,600.00	\$16,629.00	\$19,000.00	\$18,157.93
34	87800100	CONCRETE FOUNDATION, TYPE A	16	FOOT	\$300.00	\$4,800.00	\$129.00	\$273.00	\$184.43
35	87800150	CONCRETE FOUNDATION, TYPE C	4	FOOT	\$350.00	\$1,400.00	\$403.50	\$550.00	\$471.27
36	87800415	CONCRETE FOUNDATION, TYPE E 36-INCH DIAMETER	60	FOOT	\$300.00	\$18,000.00	\$154.50	\$236.00	\$187.83



**Project:** Hainesville Road at Shorewood Drive

Section: 11-00072-12-TL

Description: Install Traffic Signals

Item	Day Cada	Description	Overstitus	l l mit	Eng Est	timate	Min Did Duice	May Bid Drice	Aug Bid Drice
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
37	88030020	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, MAST-ARM MOUNTED	6	EACH	\$950.00	\$5,700.00	\$894.30	\$1,073.00	\$984.77
38	88030050	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, BRACKET MOUNTED	2	EACH	\$875.00	\$1,750.00	\$855.00	\$1,024.00	\$939.00
39	88030100	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, BRACKET MOUNTED	2	EACH	\$1,250.00	\$2,500.00	\$1,267.90	\$1,646.00	\$1,444.97
40	88030110	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, MAST-ARM MOUNTED	2	EACH	\$1,250.00	\$2,500.00	\$1,368.60	\$1,712.00	\$1,522.53
- 41	88102717	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	2	EACH	\$1,000.00	\$2,000.00	\$822.00	\$889.00	\$855.73-
42	88200210	TRAFFIC SIGNAL BACKPLATE, LOUVERED, ALUMINUM	8	EACH	\$125.00	\$1,000.00	\$115.40	\$170.00	\$135.47
43	88700200	LIGHT DETECTOR	2	EACH	\$1,100.00	\$2,200.00	\$1,178.50	\$1,217.00	\$1,203.17
44	88700300	LIGHT DETECTOR AMPLIFIER	1	EACH	\$2,000.00	\$2,000.00	\$1,875.00	\$2,006.30	\$1,936.10
45	88800100	PEDESTRIAN PUSH-BUTTON	2	EACH	\$325.00	\$650.00	\$275.20	\$332.00	\$311.40
46	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	1	EACH	\$1,200.00	\$1,200.00	\$592.00	\$3,000.00	\$1,650.67
47	LC800602	ELECTRIC CABLE IN CONDUIT, NO.18 3/C, VIDEO	822	FOOT	\$3.00	\$2,466.00	\$0.90	\$1.30	\$1.07



**Project:** Hainesville Road at Shorewood Drive

Section: 11-00072-12-TL

Description: Install Traffic Signals

Item		7/20/2011			Eng Est	imate			
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
48	LC800611	ELECTRIC CABLE IN CONDUIT, GROUND NO. 6 1C	429	FOOT	\$1.75	\$750.75	\$1.00	\$1.30	\$1.18
49	LC800612	ELECTRIC CABLE IN CONDUIT, COAXIAL	214	FOOT	\$1.60	\$342.40	\$1.00	\$1.70	\$1.43
50	LC800614	ELECTRIC CABLE IN CONDUIT, VIDEO, NO. 20 4C	214	FOOT	\$2.20	\$470.80	\$0.90	\$1.20	\$1.03
51	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1	L SUM	\$12,814.25	\$12,814.25	\$3,500.00	\$12,396.20	\$6,965.40
52	X8730250	ELECTRIC CABLE IN CONDUIT NO. 20 3/C, TWISTED, SHIELDED	289	FOOT	\$1.00	\$289.00	\$0.80	\$1.00	\$0.87
53	XX003553	VIDEO TRANSMISSION SYSTEM	1	EACH	\$18,000.00	\$18,000.00	\$6,156.00	\$6,620.00	\$6,392.00
54	XX005230	VIDEO DETECTION SYSTEM COMPLETE INTERSECTION	1	EACH	\$15,000.00	\$15,000.00	\$34,673.00	\$35,660.00	\$35,245.07
55	XX005931	TRAFFIC SIGNAL POST, 16 FOOT, (SPECIAL)	4	EACH	\$3,000.00	\$12,000.00	\$3,026.00	\$3,377.00	\$3,223.50
56	XX005937	LED INTERNALLY ILLUMINATED STREET NAME SIGN	4	EACH	\$3,500.00	\$14,000.00	\$3,670.70	\$3,857.00	\$3,743.90
57	XX008253	VIDEO ENCODER	1	EACH	\$1,500.00	\$1,500.00	\$5,365.00	\$5,728.00	\$5,521.67
		Bid Total				\$263,947.45			